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12 |EBR_EZERAKERE(KRE L8O 44,000H = 46,200H 46,200H = 48,400H
12 |EBR_EZRAEKEE (RS +—KWebi#ESH) L8W 110,000H1 | = 112,200H 112,200H | = | 114,400M
13 |EBR_EZEREE RIEI+—XWebi#EE Hig C81W | 29,700H = 31,900H 31,900H = 34,1009
13 |EBR_EZEREE RIEN+—XKWebi#Ex EH C82W | 29,700H = 31,900H 31,900H = 34,1009
13 |EBR_EZEREE RIEI+—XXWebi#EE i C83wW | 29,700H = 31,900H 31,900H = 34,1009
13 |EBR_EZEREE RIEI+—XXWebi#EE EHR Cc84w | 27,500 | = 29,7008 29,700H | = 31,9008
15 |ERR=fEZEEE (RE L30 30,800H = 33,000H 33,000H = 35,200H
15 |ER=fEZEHERE (BE +EETAN) L30B | 35,2001 | = 37,4008 37,400 | = 39,600M
15 |ER=fEZEREE (RS +Webi#®) L3W 61,600/ = 63,800H 63,800H = 66,000H
15 |EBR=fEZEEE (RE +H1EET AN+ Webi#EE) L3BW | 66,000H = 68,200H 68,200H = 70,400H
16 |ER=FHEYAZ—I1—A L30A | 41,800H = 44,000H 44,000H = 46,200H
17 |EBR=fE2EEE REN RE+WebiEx Hj K31 15,400H = 17,600H 17,600H = 19,800H
17 |EBR=fE2EEE REN/ RE+Webig®x &N K32B | 15,400H = 17,600H 17,600H = 19,800H
17 |EBR=fE2EEE REN/ RE+WebiE®E i K33 15,400H = 17,600H 17,600H = 19,800H
17 |ER=fEZE#EEZ REH  REH+WebiEE EH K34 14,300 | = 16,500M 16,5001 | = 18,700H
17 |EBR=fE2EEE REN RE+Webigx Hj K31w | 23,100H = 25,300H 25,300 | = 27,500H
17 |EBR=fE2EEE REN/ RE+Webig®x &N K32w | 23,100H = 25,300H 25,300 | = 27,500H
17 |ER=fEZE#EREZ REH BB +WebiEE K K33w | 23,100 | = 25,300 25,300 | = | 27,500H
17 |ER=fEZE#EEZ REH  REH+WebiEE EHR K34w | 22,000 | = 24,200MH 24,200 | = | 26,400H
IXINF—EH L+

19 |V F—EE L ZERERE (2D E) D40 34,100H = 36,300H 36,300H = 38,500H
19 |ZANVF—EE L ZEEER(EXDE) D41 34,100H = 36,300H 36,300H | = 38,500H
B+

20 |HiffiL—EABa SREERE BERRERIE BRI D09 19,800H = 22,0008 22,000 | = 24,200M
20 |Bffi— KA REE BREFEM D10 38,5001 | = 40,700H 40,7001 | = 42,900H
20 |BfT L —REABRXTREERE BEMERT D12 38,5001 | = 40,700H 40,7001 | = 42,900H
ESTEL

2] |E—RBEKIE I ZERER L51B 29,700 | = 31,900H 31,900H = 34,100H
2] |E—RBEKIELEKERE D51B | 52,8001 | = 55,000H 55,000 | = 57,200H
22 |E-_RBESIE L ZEHER KO7B | 27,5001 | = 29,700H 29,700M | = 31,9004
22 |E-_RBESKIE L EKEE DO7B | 44,000 | = 46,200H 47,3001 | = 49,500H
T

26 |BEXBEGEIERIEEE T ZBRAEMKERE (1K) D57B | 35,200 | = 37,400 37,400H | = 39,600H
26 |BEXBEGILERIEERE L ZBRAEMERE(2HR) D58B | 30,800H = 33,000H 33,000H = 35,200
27 |BERLERELEEE - ZERERE (1) L10 35,200H = 37,4008 37,400 = 39,600H
27 |BEXRLEELEEE - ZERERE (24k) L20 30,800H = 33,000H 33,000H = 35,200
28 | ABEIEER T ZEBREKHERE (1K) D47 29,700H = 31,900H 31,900H = 34,100
28 | AEIEES - ZEBREEHEE (2R D48 25,300H = 27,5008 27,500H = 29,700
29 |BEIEMILEER L ZBREMKERE (1K) D27 29,700H = 31,900H 31,900H = 34,100H
29 |BEILEM T EEE L 2EAKERE(2K) D28 25,300H = 27,5008 27,500H = 29,700H
[« 21 f= ¢

30 |V BB E ZERERE L0O4 24,200H = 26,4008 26,400 = 28,600
31 | =R A S—H - ZEReERE LO5 20,900H = 23,100H 23,100H = 25,300
32 (B3R HEEHE L E AIEERE L03C 22,000H = 24,200H 24,200 = 26,400
33 |BETAEEREELEZREE(25E) LO2 24,200H = 26,4008 26,400 = 28,600
HRER e

4] | R E R YEfRERE (@Rl e ) D14 27,500H = 29,7008 29,700H = 31,900H
42 [HEEMRE IO R TR T | (AR YEE) D15 27,500H = 29,7008 29,700H = 31,900H
42 [HRERMRRE 28R H ) 9 WO RSN T ) (AR YES) D16 27,500H = 29,7008 29,700H = 31,900H
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43 | BEERE LD RO TR 2 | (ARTESR) (BER) L45 27,500 | = 29,700/ 29,700 | = 31,900H
43 | BEERRE 2RO T WA 2 ) (RARYE(H) (FR) L44 27,500 | = 29,700/ 29,700 | = 31,900H
43 | BEERE LD RO TR 2 | (AR ESR) (ESR) L46 27,500 | = 29,700/ 29,700 | = 31,900H
43 | BEERE 2R DN T WA 2 ) (RIRER) (BXR) L43 27,500 | = 29,700/ 29,700 | = 31,900H
44 |HRERRE Lk & <05 TR E | (AR YE(H) D17 27,500 | = 29,700/ 29,700 | = 31,900H
44 |ERERE 28k &k < Db TR E | (AR %EfR) DI8 27,500 | = 29,700/ 29,700 | = 31,900H
EIRXRAFYV7Y

49 [F70IVAN) =X OIAT4 I AEEI—Z(254%) H49 19,800 | = 22,000/ 22,0000 | = | 24,200H
49 [F70IVA N =X OIAT4 I AEEI—Z(35%) H47 17,6001 | = 19,800H 19,800 | = | 22,000H
50 [F27/0YAN ) =X OIVATAI A ARV—aya—R(28k) H50 19,8001 | = 22,000/ 22,0000 | = | 24,200H
50 [F27/uYAN)—X OIVATAI A ARV—Yaya—A(3%k) H48 17,6001 | = 19,800H 19,800 | = | 22,000H
Big ) (- B8

53-RZ51k

51 |fEMB5SIZEBUNESEE H35 17,6001 | = 19,800H 19,800 | = | 22,000H
53 |BHEHEEDDIR25{bIDEBE~VisualManagement~ HI15 14,300 | = 15,400 16,500H | = | 17,600M
54 |BI5HMNUPTSIEEN ] A H32 14,3001 | = 15,400H 16,5001 | = 17,600/
bR

56 |HEBLREDER 130 18,7001 | = 20,900/ 20,900 | = 23,100H
57 |60 BIHDRIERRER AT H53 14,3001 | = 15,400H 16,5001 | = 17,600/
58 |HEDIVBEIGDI AL 3 DDAFI ] H40 19,800 | = 22,000/ 22,000 | = | 24,200H
59 |BIBDLXDEDIFHEY K Hl6 14,3001 | = 15,400H 16,5001 | = 17,600/
60 |hIXAEFEHNAF 164 14,3001 | = 16,500H 16,5001 | = 18,700/
61 |Xfg BEMEAAEV AP ~noDdnIhn~ Hb54 15,4001 | = 16,500H 17,6001 | = 18,700/
N7 VBSIE

62 |BGHEEOLRAIrERLFaEREK] H22 14,3001 | = 15,400H 16,5001 | = 17,600/
63 |HBIBIIBIREXNKDED S ] H36 14,3001 | = 15,400H 16,5001 | = 17,600/
64 [N 7S5 Why | H17 14,3001 | = 15,400H 16,5001 | = 17,600/
65 |BRERESIITEBI N TN IEDEHEADILY ] H24 17,6001 | = 19,800H 19,800 | = | 22,000H
mEEH

68 |ZhTZD ! TQCH—2IVEEIDHED S | H23 14,3001 | = 15,400H 16,5001 | = 17,6004
JAMER

69 |BEHEEDLIANDEZF IAM 192 14,3001 | = 15,400H 16,5001 | = 17,600/
70 (B3ZOBFEAIANTT Y 127 18,7001 | = 20,900/ 20,900 | = 23,100H
e

73 [Q&ATZESR AARDIATTXZAAYNAM H55 16,5001 | = 18,700H 18,700M | = | 20,900H
74 | BRI TESC—I Y TIT—NRHERE 169 17,6001 | = 19,800H 19,800 | = | 22,000H
75 (YO ED-ODIHIZDOE 2K H34 17,6001 | = 19,800H 19,800 | = | 22,000H
Re-WEE

76 |OPIRTVEERS S09 14,3001 | = 15,400H 16,5001 | = 17,600/
77 |EEY AT LDFEE (BEEER) S46 17,6001 | = 19,800H 19,800 | = | 22,000H
78 |ARV—RDFEEE S10 18,700 | = 20,900H 20,9001 | = 23,100H
79 |EfEREEHEDOER S40 18,700 | = 20,900H 20,9001 | = 23,100H
82 |HIE - ZEKEHERS (Ei) S41 15,4001 | = 16,500H 17,600 | = 18,700H
82 [ME-ZEKEHER(EMH) S42 15,4001 | = 17,600H 17,600 | = 19,800H
Yoi5t - 72 - E A

84 |FlamzxEOEEEHOER HO2 13,2001 | = 14,300H 15,400H = 16,5004
85 |FizszEOEMBEE MEEHOER H62 14,3001 | = 15,400H 16,500 | = 17,6004
ISO

86 [ISO 9001:2015AF1 HO5 15,4001 | = 16,500H 17,600H = 18,700H
87 [ISO 14001:2015AF HO6 15,4001 | = 16,500H 17,600H = 18,700H
EEEHYY)-X

89 |EEEHYV—-X ITEEH 140 12,100H = 13,200H 14,300H = 15,400H
90 |&EEEHYV—X (p%EH 141 12,100M = 13,200H 14,3001 | = 15,4004
9l |EEEEYV—X RBEEH 142 12,100M = 13,200H 14,3001 | = 15,4004
92 |EEEHYV—X RMER 143 12,100H = 13,200H 14,300H = 15,4004
93 |EEEHY)—X Z2FEEHEKOBREOHRS 144B 12,100M = 13,200H 14,3001 | = 15,4004
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3AMMET 4H1HFARE~ 3AFMMAET 4H1HFR#RE~
94 |EEEEYV-X {FEiEE 145 12,100 | = 13,200/ 14,300H | = | 15,400M
95 |EEEHEYY-—X RfEEHE 146 12,100 | = 13,200/ 14,300H | = | 15,400M
96 |EEEHEYV-—X IREH EREHE 147 20,900 | = 23,100 23,100 | = | 25,300M
96 |EEEHEYV-—X SEEHCFRMEE 148 20,900 | = 23,100 23,100 | = | 25,300M
96 |EEEHYV-X (FEEELL2HEEEERVRENRE 149B | 20,9001 | = 23,100 23,100 | = | 25,300M
BN (FHi)
Al-IoT
98 |PythonTZ#SAERA AR E45 19,8001 | = 22,000H 22,000 | = | 24,200H
102 [ &< 2 IoTH D ERE E44 19,8001 | = 22,000H 22,000 | = | 24,200H
wat- T —2iEH
106 |EHITESExcelz >/ HtatHIFi% C44 19,8001 | = 22,000H 22,000 | = | 24,200H
107 | EBREHEEDERE ~ EFHIR L OHETE~ H59 24,2001 | = 26,400H 26,400 | = | 28,600HM
HAfrE
108 |BAfiEEAR~BLFTH>THOTIELWIE M43 15,400 | = 16,500H 17,600F | = | 18,700M
109 |BEREKHITESFMEA -FTAAR H52 19,8001 | = 22,000H 22,000 | = | 24,200H
110 |S#EIEAM (27 FAVY KAF) 185 18,700MH | = 20,900H 20,900MH | = | 23,100M
112 |FIRE EEHEAFT (R EFRE - R SR P HEE - HERI T EE T) B55 16,5001 | = 18,700H 18,700 | = | 20,900M
114 |3&E1E DO DI BLE DEERERI ) M37 17,6001 | = 19,800H 19,8001 | = [ 22,000H
115 |$XHfE D= DIERFTEHDOERELEZ T | M27 17,6001 | = 19,800H 19,8001 | = [ 22,000H
116 |EffiE D= DI X ENL TS ) M36 17,6001 | = 19,800H 19,8001 | = [ 22,000H
117 |WIREEATE D72 DI TZ2Fw ikt it dhi%at | MZ26 18,7001 | = 20,900H 20,900 | = | 23,100M
AlEN
118 |6DIVDI 74T 7 HHETE] A22 15,4001 | = 16,500H 17,600H | = | 18,700M
PR
119 |“LTENIRWTES DYDY (fREHR) M50 16,5001 | = 18,700H 18,700 | = | 20,900M
119 |“ULTUENIRWTES £D VDY (fEETELHIE TEMR) M51 12,100 | = 13,200/ 14,300H | = | 15,400M
120 |XfE HEW T EDOERE M41 17,6001 | = 19,800H 19,8001 | = [ 22,000H
121 |BABITESHEMD UL A M21 12,100 | = 13,200/ 14,300H | = | 15,400M
122 [EZE ARSI VW HIEDFHAT M39 17,6001 | = 19,800H 19,8001 | = [ 22,000H
123 |JISIZE & D <EX% M34 18,7001 | = 20,900H 20,900 | = | 23,100M
124 |#EH%E M22 17,6001 | = 19,800H 19,8001 | = [ 22,000H
25 |MREIE M40 17,6001 | = 19,800H 19,8001 | = [ 22,000H
126 |BUGITIRIL DR DERE M44 17,6001 | = 19,800H 19,8001 | = [ 22,000H
127 | &8k P24 19,8001 | = 22,000H 22,000 | = | 24,200H
128 |EBETIAFv V5T H A P26 20,900 | = 23,100 23,100 | = | 25,300M
129 | & BN THAfT P25 20,900 | = 23,100 23,100 | = | 25,300M
130 | VAN T P23 19,8001 | = 22,000H 22,000 | = | 24,200H
131 [HEM TR (RFEIANT) P20 19,8001 | = 22,000H 22,000 | = | 24,200H
131 | Bt TAEvE (hedd) P21 19,8001 | = 22,000H 22,000 | = | 24,200H
e
133 [EfENSZEIMR M45 18,700 | = 20,900H 20,900 | = | 23,100M
134 |Xfg BRSO RELE M28 18,700 | = 20,900H 20,900 | = | 23,100M
BER-EF
136 |EBENSASE IR EO2 16,5001 | = 18,700H 18,700Mm | = [ 20,900M
137 |MECESNERDERE—ERDMEELZ DM H— E10 17,6001 | = 19,800H 19,800 | = | 22,000H
138 | TV 7 ha =27 ZADEHE E31 17,6001 | = 19,800H 19,800 | = | 22,000H
139 [F+ T2V EIEEDERE E33 18,700 | = 20,900H 20,900 | = | 23,100M
140 (7 a2 EIEEOERE E37 18,700 | = 20,900H 20,900 | = | 23,100M
BERICH
142 (B AL B F ERDOER S36 17,6001 | = 19,800H 19,800 | = | 22,000H
143 |EFHEININ E09 14,3001 | = 15,400/ 16,500M | = [ 17,600M
144 (NU—x L7 bha=s ZADEE E41 19,8001 | = 22,000H 22,000 | = | 24,200M
B
145 |EREEEE BO1 8,800M = 11,000H 11,0001 | = | 13,200M
146 |EREESEF B0O3 13,2001 | = 15,400H 15,4001 | = | 17,600H
147 | TEBEEDERE B04 17,6001 | = 19,800H 19,800 | = | 22,000H
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3HFERET 45 1HRERE~ 3HBEE@RET 48 1HBERE~
{65 - Wit
148 |[®XUW\THH b2 B10 | 17,600 |=| 19,800H 19,800 | = | 22,000/
149 |®IL VAL B35 | 16,500™ | = | 18,700/ 18,7008 | = | 20,900H
150 |51->THifg | (LEMEDEE B25 | 15,400M | = | 16,500/ 17,6008 | = | 18,700/
151 [BHFHBAM~ES FENSDT FO—F B23 | 14,300™ | = | 16,500/ 16,500 | = | 18,700/
152 b2 T35 S35 | 17,6008 | = | 19,800H 19,800 | = | 22,000/
153 |51 72> i DFE~ K< DM B T RVIVEM ~ B18 | 16,500 | = | 18,700H 18,7008 | = | 20,900H
AAMAZIA
154 |ERENSZIAN MNIZI A E42 | 17,600M | = | 19,800/ 19,800 | = | 22,000/
155 |NC iRt AP S23 | 19,800H | = | 22,000/ 22,000 | = | 24,200/
il fE
157 | —4 > ZBIDERE (EBED L A) S38 | 17,6008 | = | 19,800H 19,800 | = | 22,000/
158 | ¥—r v A/ v—r Y R OERE S48 | 18,700 | = | 20,900 20,900H | = | 23,100M
159 |PCIz&k 5> —2r A& S45 | 17,6008 | = | 19,800H 19,800 | = | 22,000/
160 |EBIE oM HIER ) S06 | 17,600 | = | 19,800H 19,800 | = | 22,000/
161 |E—&iEFAAM S51 | 17,600 | = | 19,800/ 19,800 | = | 22,000/
ERER
TRX—
162 |1 AT 00 7= 0D D LR B22 | 16,500™ | = | 18,700/ 18,7008 | = | 20,900H
HEE
163 [lZUHTHR HEIEDOLA M10 | 13,200 | = | 14,300/ 15,4000 | = | 16,500/
164 |hh ) X9\ EEIE DR L 8l P13 | 13,200 | = | 14,300/ 15,4000 | = | 16,500/
165 | bR TVEBENTL Y MI=s 2 E21 | 11,000m |=| 12,100M 13,2000 | = | 14,300/
166 |hM)PFWEKEEE A~/ T )y RENSHREI B EE T~ E22 | 13,200M | = | 14,300/ 15,4000 | = | 16,500/
167 |EEET IV AR Cll | 14,3008 | = | 15,400/ 16,500 | = | 17,600/
168 | b1 )R VEBEOME L HIMER M23 | 12,1000 | = | 13,200/ 14,3008 | = | 15,400H
CIVEHE - Bt
169 |ERENSZIC IV EHE Uo6 | 18,7008 | = | 20,9001 20,900H | = | 23,100M
170 | TEBET (BMDER) Uo4 | 14,3008 | = | 15,400H 16,500 | = | 17,600/
R
171 [oh) Xogu [k - 3 5 D ELRE | B33 | 16,500™ | = | 18,700/ 18,700 | = | 20,900H
B
173 |H>THE AW AR TIHOEA] B36 | 13,200M | = | 14,300/ 15,4008 | = | 16,500/
174 |BRIHEOLLEBT BARDEESHE B44 | 14,300 | = | 15,400/ 16,500 | = | 17,600/
175 |BROEENEHBIE~BRELERESE~ B24 | 14,300M | = | 15,400/ 16,500 | = | 17,600/
176 |&&THORYE AN B26 | 14,300 | = | 15,400/ 16,500 | = | 17,600/
177 |HACCPOEREL LTD BEEETSAM B29 | 16,500 | = | 18,700/ 18,700 | = | 20,900H
178 |&<bhd BRHFRIAZ—I—R B39 | 15,400M | = | 16,500/ 17,6000 | = | 18,700/
179 | S & MO BIE L BUEY) B37 | 13,200M | = | 14,300/ 15,4008 | = | 16,500/
180 |BEDREERIZ MR A | TRERE AR B30 14,300 | = 15,400M 16,5001 | = | 17,600
180 | BRI HERENE A | THEREMEAREL B31 | 14,300 | = | 15,400 16,500 | = | 17,600/
180 | B BRI HEREME A | THEREMEAREL B32 | 18,700™ | = | 20,900H 20,900 | = | 23,100M
B’E
181 |aBA=a—TF5 F— Pt J22 | 22,000 |=| 24,200/ 25,300 | = | 26,400M
182 | A& #EE (B34R) [Foods How ? | Jol | 18,700 | = | 20,900/ 22,000 | = | 23,100M
183 | A& #EE (BEM) [Foods How ? | Jo3 | 18,700 | = | 20,900/ 22,000 | = | 23,100M
184 | A& #EE (B4E/) [Foods How ? | Jo2 | 18,700 | = | 20,900/ 22,000 | = | 23,100M
185 |&&#E (i) [Foods How ? | Jo4 | 18,700 | = | 20,900/ 22,000 | = | 23,100M
186 |@&#HE (<2 E0iF) [Foods How ? | J12 | 18,7008 | = | 20,900/ 22,000 | = | 23,100M
187 |BEF TV A AN HHE J24 | 22,000 |=| 24,200/ 25,300 | = | 26,400M
SRRATAVE
V=R
189 |&HHE1—2 116 | 27,500 | = | 29,700H 29,700 | = | 31,900M
191 |EBEa—2 115 | 25,300 | = | 27,500H 27,5001 | = | 29,700/
192 |¥IkEEE 1— A 114 | 25,3000 | = | 27,500H 27,5000 | = | 29,700M
194 |FRERY —4'—a—2 112 | 20,9000 |=| 23,100/ 23,100@ | = | 25,300/




ke
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3EmEET 45 1HFEE~ 3HpEET 48 1HFEEE~
195 |4EELRM R —&—a—2 113 | 20,9000 | = | 23,100M 23,100 | = | 25,300M
196 |BF)—&—U—7 v S HI12 | 17,600" | = | 19,800M 19,800 | = | 22,000MH
N -Fr A
198 [~ZhZFIZH->THEEX AV~ ED I DEA 180 | 16,500™ | = | 18,700M 18,700 | = | 20,900MH
ARTIAVRAFI
Fovh—
202 [HFR— A=A Ry 51— AFIEE H26 | 13,200M | = | 14,300M 15,400 | = | 16,500M
203 |BEREFTHEI~R—DALARRTY H—EBEE H38 | 16,500 | = | 18,700M 18,700 | = | 20,900M
204 |EDIKY ADFDDRTY F— H27 | 17,600M | = | 19,800M 19,800 | = | 22,000MH
V—F—vS
205 [HFDLEENGT) —F =y F—EHE) —&—DT T H— 189 | 16,500™ | = | 18,700M 18,700 | = | 20,900M
206 |FIZRTEIH) —X—D ALY | 199 | 14,300™ | = | 15,400M 16,500 | = | 17,600M
207 |BHRIZES fatlaRIYID) —Z—D5%M H37 | 16,500M | = | 17,600M 18,700 | = | 19,800M
208 | Tx3 | V=X —DI=DREMIEDHED /5 HOl | 13,200W | = | 14,300M 15,400 | = | 16,500M
OJT-a—Fv7
210 |HEDH 2 H~IFDF -1 HOEE H56 | 14,300 | = | 15,400M 16,500 | = | 17,600M
211 |F—2L)—H—D=bDOIJTEHEI— X 131 18,700M | = | 20,900M 20,900 | = | 23,100M
R E
214 (BT %EE&D ADLLDEEERS] A20 | 17,600W | = | 19,800M 19,800 | = | 22,000MH
216 | ADEREE Al5B | 15,400 | = | 17,600M 17,600M | = | 19,800M
EIRAARIV
SDGs
218 [SDGsEEEMEI 3D D8 | ~ IR IRk - FEZEH) - U A2—GOAL9-12-13— B38 | 14,300M | = | 15,400M 16,500 | = | 17,600M
219 |SDGs/KELINVF— A —GOALT— B09 | 16,500M | = | 18,700M 18,700 | = | 20,900M
220 |SDGsZMIEBHEEN SIXUHB XA N—2 T4 DEE—GOALS— A33 | 19,800 | = | 22,000H 22,000 | = | 24,200M
221 [SDGstitfi & A XBHBDS YRIILT—Y AF#E—GOALI6— A34 | 19,800 |=| 22,000M 23,100 | = | 24,200M
222 |SDGsHE XS HE/EIF S EIBDEE | —GOAL13— Wil | 16,500H | = | 18,700M 18,700 | = | 20,900M
£EAHUP
23] |BEEERK | AT AT—IDNET VS H58 | 14,300 | = | 15,400M 16,500 | = | 17,600M
232 |HED[7T>DH ] H25 | 16,500 | = | 18,700M 18,700 | = | 20,900M
233 |HEANRT Y ST BEREFR N —=> ] Al6 | 27,500 | = | 28,600M 29,700M | = | 30,800M
234 |HEHEBEDBPDCADT T HN HO3 | 13,200 | = | 14,300M 15,400 | = | 16,500M
235 |BELD | EHOWWA YR DR H31 | 14,300" | = | 15,400M 16,500 | = | 17,600M
237 |THHY | Zvx) BEEIM (B AD B EEEDEEBOXAT %) Al4 | 14,300M | = | 15,400M 14,300 | = | 17,600M
238 |REDF—21%DK3 | ADNT Y THEE(E OO —E %) HI3W | 19,800" | = | 20,900M 22,000" | = | 23,100M
dIa=f—Yayv
241 [NMABRAEDIETII2=r—Vav AFL 119 | 16,500M | = | 18,700M 18,700 | = | 20,900M
2255 -BEKA
246 |RRATYFIRADERES A54 | 13,2000 | = | 14,300M 15,400 | = | 16,500M
247 | DAV BBADEA ) 7— 2 C37 | 16,500M | = | 18,700M 18,700 | = | 20,900M
248 | RY T M= AFI~ PR3 RICI BB EEDS A53 | 14,300m | = | 15,400M 16,500 | = | 17,600M
249 [FHEBEILSA =) —FV T DERE A26 | 18,700 | = | 20,900M 20,9001 | = | 23,100M
250 |BROPIES - KBS H39 | 17,600M | = | 19,800M 19,800 | = | 22,000M
251 [100%fEh 3 [ REE - REEDIE) ) C33 | 15,400M | = | 16,500M 17,600 | = | 18,700M
252 | ~5E<. AR R D ~ EREX ORI A51 | 14,300M | = | 15,400M 16,500 | = | 17,600M
ERDN
255 |HETHREZHYT BEHEEDS B | [5WIH] A55 | 16,500W | = | 17,600M 18,700 | = | 19,800M
256 |ATEEMEOAITBINATY TR —=2 2 ] Al9 | 12,100M | = | 13,200M 14,300 | = | 15,400M
257 |SermEO A e ATy TR —=2 2 Al8 | 12,100M | = | 13,200M 14,300 | = | 15,400M
HE-IR5E
260 |Fl2sx EOHAAAF~ =7 T4 7 DERE A25 | 14,300m | = | 15,400M 16,500 | = | 17,600M
B¥-avSS5AT7 VA
263 |BADEDHD AP/ EYXAER A24 | 12,100M | = | 13,200M 14,300 | = | 15,400M
264 |EREFITER IV T514T7 VAN HO4 | 11,000M | = | 12,100 13,200M | = | 14,300M
%
270 | AF/ VX ABED RS -E LS Al0 | 14,300M | = | 16,500M 16,500H | = | 18,700M




— 2

3ER#ETC 4F1E R~ 3EB#ETC 4AF1H R~
Za—)y
274 |BARES>THFRIHES | BAAHTY TS A32 | 15,4008 |=| 16,500 17,600/ | = | 18,700M
e
BfiEsE
275 |FAEYR LAV DIMERFTRLS | £DIYRIBNIE | A28W | 22,000 | = | 24,200H 24,2008 | = | 26,400/
276 | BB D ERE Bl4 | 17,600 | = | 19,800H 19,800/ | = | 22,000/
277 | Bt DD DEBIZLZ Ly TF—ay B34 | 15,400M | = | 16,500/ 17,600/ | = | 18,700M
CIRAEEE
278 |Exx5 75/ EH#EN —=2 2 | ~TOEIC*L&RTESTH #1— % A36 | 20,900/ | = | 22,000/ 23,1000 | = | 24,200/
FEFE
279 [£DIVBIH T2 B REERB AP~ HERTRA X A30 | 20,900/ |=| 23,100H 23,1000 | = | 25,300/
EURXAEE
<
283 |24 EiE—E P EEDT T Cl0 | 15,4008 |=| 16,500 17,600/ | = | 18,700M
XEVERK
284 |[(HEBADDD b EX -3 C36 | 14,300™ | = | 15,400/ 16,500/ | = | 17,600M
285 |55 AH | EEFREAME (2 SHIE) ZARET H AET P36 | 14,300™ | = | 15,400/ 16,500/ | = | 17,600M
RYZERY
289 |EVAARVE BEBEMRE SRS P40 | 12,100 | = | 14,300/ 14,300/ | = | 16,500M
290 |— —HIZHENDL— IOXSEARHBE P97 | 14,300M | = | 16,500/ 16,500/ | = | 18,700M
FyVU7 -
291 |@x - X R EHEE—ERT— 7 S INT Y A— A27 | 16,500 | = | 18,700H 18,700 | = | 20,900/
AV %
293 |BHEDZEA 7SV IEHRIEIR i A52 | 13,200 | = | 14,300H 15,4008 | = | 16,500/
294 |Excel HH B 1E c4l | 13,2008 | = | 14,300H 15,4008 | = | 16,500/
295 |EkHIC2RExcel2016 C45 | 13,200™ | = | 14,300/ 15,4008 | = | 16,500/
296 | S V¥V ERHER E B ETE C39 | 15,400™ | = | 17,600/ 17,6008 | = | 19,800/
297 £ HEMSIEN NYIVHERT v T DR c42 | 13,200™ | = | 14,300/ 15,4008 | = | 16,500/

TR REE

es5—=ya—2A
IWRAT—) LDiEEEERE

371 |EY R ANV VD7 DFIFRERL G48 8,800H = 9,800 8,800H = 9,800M
372 |FETES NS TEHETLAF G49 8,800H = 9,800 8,800H = 9,800M
374 |BHEEZED-DDIRMFTE G52 12,0001 | = 13,000/ 12,000 | = | 13,000M
375 | BT | BN =Y Y DREH R G53 12,0001 | = 13,000/ 12,000H | = | 13,000M
376 B at DA G54 8,800H = 9,800 8,800H = 9,800M
377 |EA%5 53t DEERERIFE (18 0) G55 8,800H = 9,800 8,800H = 9,800M
377 |EA¥5 53t DEERERIF (285T) G55B | 17,600 | = 18,600/ 17,600H | = | 18,600M
378 |EVA R BRI R T 7= DB IR G56 8,800H = 9,800 8,800H = 9,800M
379 [EE D DEFER G57 8,800H = 9,800M 8,800M = 9,800M




